
Math 114
Rational Expressions Review

In addition to the questions below, review the material from the Rational Equations Applications handout

Solve.

[1] w varies directly as y and inversely as z. [2] b varies directly as the square root of c.
w = 12 when y = 8 and z = 5. b = 12 when c = 16.
Find the value of w when y = 6 and z = 15. Find the value of c when b = 18.

[3] The height of a 1 liter water bottle varies inversely with the square of the radius of its base. A bottle with radius
5.4 cm is 11 cm tall. How tall is a bottle with radius 4.1 cm ?

[4] The cost of insuring a delivery varies jointly with the number of items in the delivery and the value of each
item. It costs $15 to insure a delivery of 25 items each valued at $20 dollars. How much does it cost to insure a
delivery of 3 items each valued at $80 ?

Solve for x in the following similar triangles.
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Simplify.
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Perform the algebraic operations and simplify.

[13]
12

4

16

14 2

2

2








x

xx

x

x
[14]

672

273

143

62
2

2

2

2








xx

xx

xx

xx



[15]
149

9

103

152
2

2

2

2








xx

x

xx

xx
[16]

1

106

22

259
2

2








x

x

x

x

[17]
82

212

82

52








x

x

x

xx
[18]

9

12

9

2
2

2

2

2








x

x

x

xx

[19]
3

2

2 


 xx

x
[20]

2

6

2 2 


 xxx

x

[21]
124

2

67

1
22 







xx

x

xx

x

Solve for x.
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[26] [a] Describe in words (not formulae) how to find the vertical and horizontal asymptotes of a rational
function.

[b] Find the equations of the horizontal and vertical asymptotes of 
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ANSWERS

[1] w = 3 [2] c = 36 [3] 19.1 cm [4] $7.20

[5] x = 25 [6] x = 3 [7] x = 5 [8]
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[25] no solution [26] [a] refer to lecture notes
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Solve.


[1]
w varies directly as y and inversely as z.

[2]
b varies directly as the square root of c.


w = 12 when y = 8 and z = 5.




b = 12 when c = 16.



Find the value of w when y = 6 and z = 15.


Find the value of c when b = 18.


[3]
The height of a 1 liter water bottle varies inversely with the square of the radius of its base. A bottle with radius

5.4 cm is 11 cm tall. How tall is a bottle with radius 4.1 cm ?


[4]
The cost of insuring a delivery varies jointly with the number of items in the delivery and the value of each


item. It costs $15 to insure a delivery of 25 items each valued at $20 dollars. How much does it cost to insure a


delivery of 3 items each valued at $80 ?

Solve for x in the following similar triangles.
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Simplify.


[8]


[image: image1.wmf]72


6


3


48


8


2


2


3


-


+


-


+


x


x


x


x


x



[9]


[image: image2.wmf]5


9


2


1


6


2


2


-


+


-


-


x


x


x


x




[10]


[image: image3.wmf]1


2


4


2


2


3


+


-


-


-


x


x




[11]


[image: image4.wmf]x


x


x


x


2


3


5


3


3


2


+


-


-


-




[12]


[image: image5.wmf]2


2


3


4


1


12


6


1


-


-


-


-


x


x




Perform the algebraic operations and simplify.
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Solve for x.
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[26]
[a]
Describe in words (not formulae) how to find the vertical and horizontal asymptotes of a rational


function.


[b]
Find the equations of the horizontal and vertical asymptotes of 
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ANSWERS


[1]
w = 3


[2]
c = 36


[3]
19.1 cm

[4]
$7.20

[5]
x = 25


[6]
x = 3


[7]
x = 5


[8]
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[25]
no solution

[26]
[a]
refer to lecture notes

[b]
horizontal asymptote: 

[image: image40.wmf]4


3


-


=


y


, vertical asymptote: 

[image: image41.wmf]3


2


-


=


x




_1270384736.unknown



_1270553562.unknown



_1303212000.unknown



_1347723788.unknown



_1347724409.unknown



_1451991227.unknown



_1451992278.unknown



_1347723795.unknown



_1303213568.unknown



_1303213603.unknown



_1347723420.unknown



_1303213597.unknown



_1303212067.unknown



_1303212035.unknown



_1270554345.unknown



_1270554562.unknown



_1270554693.unknown



_1270554762.unknown



_1270554790.unknown



_1270554626.unknown



_1270554471.unknown



_1270554507.unknown



_1270554428.unknown



_1270554225.unknown



_1270554265.unknown



_1270553668.unknown



_1270386610.unknown



_1270553302.unknown



_1270553464.unknown



_1270387559.unknown



_1270385812.unknown



_1270386585.unknown



_1270385927.unknown



_1270385724.unknown



_1270384150.unknown



_1270384354.unknown



_1270384704.unknown



_1270384221.unknown



_1270383870.unknown



_1270384085.unknown



_1270383719.unknown



